Proceedings of the Edinburgh Mathematical Society (1976-77), 20, 199-204 ©

SOME INEQUALITIES INVOLVING THE SYMMETRIC FUNCTIONS

by V. J. BASTON

(Received 31st October 1974, revised 15th September 1975)

1. Introduction

We firstly introduce some notation. Let $a^{(t)} \in \mathbb{R}^n$ then we denote by $\alpha^{(t)}$ a rearrangement of $a^{(t)}$ in non-decreasing order. We write $a^{(1)} < a^{(2)}$ if

$$\sum_{i=1}^{k} \alpha_i^{(1)} \leq \sum_{i=1}^{k} \alpha_i^{(2)} \quad \text{for} \quad k = 1, 2, \dots, n-1$$

and

$$\sum_{i=1}^{n} \alpha_i^{(1)} = \sum_{i=1}^{n} \alpha_i^{(2)}.$$

If the second condition is replaced by $\sum_{i=1}^{n} \alpha_i^{(1)} \leq \sum_{i=1}^{n} \alpha_i^{(2)}$ we write $a^{(1)} \leq a^{(2)}$.

We shall also use E_r to denote the r^{th} elementary symmetric function and C_r the r^{th} completely symmetric function. In (3) Daykin proved the following result.

Theorem 1. Let a and b be n-tuples of non-negative real numbers and S an integer such that $2 \le S \le n$. If $a \le b$ then

$$E_{\mathcal{S}}(\boldsymbol{a}) \leq E_{\mathcal{S}}(\boldsymbol{b}) \tag{1.1}$$

but

$$C_{\mathcal{S}}(\boldsymbol{b}) \leq C_{\mathcal{S}}(\boldsymbol{a}). \tag{1.2}$$

Equality holds in (1.1) if and only if either both sides are zero or **a** is a rearrangement of **b** whilst equality holds in (1.2) if and only if **a** is a rearrangement of **b**.

Over the years there has been considerable interest in inequalities involving E_r and C_r (see (7), pp. 95–107) and the referee has pointed out that the above theorem can be obtained from known results as follows. If a < bthere is a doubly stochastic matrix M with b = Ma ((4), Theorem 46). Further the set of $(n \times n)$ doubly stochastic matrices is a convex polyhedron with permutation matrices as vertices (1). But $E_r^{1/r}$ is concave (5) and $C_r^{1/r}$ is convex (13) so, when they are defined on a convex polyhedron, min $E_r^{1/r}$ and max $C_r^{1/r}$ are realised at vertices of the polyhedron. Hence

$$E_r^{1/r}(b) = E_r^{1/r}(Ma) \ge E_r^{1/r}(P_1a) = E_r^{1/r}(a)$$

199

and

200

$$C_r^{1/r}(b) = C_r^{1/r}(Ma) \le C_r^{1/r}(P_2a) = C_r^{1/r}(a)$$

where P_1 and P_2 are suitable permutation matrices.

In this note we investigate how the theorem can be generalised and obtain simple proofs for generalisations of inequalities by Daykin, Minc and Oppenheim.

2. Generalisation of Theorem 1

When the condition a < b of Theorem 1 is replaced by a < b, (1.2) will clearly not hold in general; on the other hand (1.1) will continue to hold, for let $c_i = a_i$, i = 1, ..., n-1 and $c_n = a_n + \sum_{i=1}^n b_i - \sum_{i=1}^n a_i$ then clearly $E_S(a) \le E_S(c)$ and, since c < b, $E_S(c) \le E_S(b)$ by Theorem 1. When we have a < b in place of a < b however, the following theorem shows that we can obtain an inequality corresponding to (1.2) and a sharper inequality than (1.1).

Theorem 2. Let a and b be n-tuples of non-negative real numbers, $a = \sum_{i=1}^{n} a_i$, $b = \sum_{i=1}^{n} b_i$ and S an integer such that $2 \le S \le n$. If $a \le b$ then (i) $bE_S(a) \le aE_S(b)$, (ii) $a^{nS}C_S(b) \le b^{nS}C_S(a)$.

In both cases there is equality if and only if both sides are zero or **a** is a rearrangement of **b**.

Proof. We may clearly suppose $b_1 \le b_2 \le \cdots \le b_n$. Let $c_0 = 0$ and for $r = 0, 1, \ldots, n-1$ define

$$c_{r+1} = \min \left\{ b_{r+1}, \left(a - \sum_{i=0}^{r} c_i \right) / (n-r) \right\}$$

then (c_i) is a non-decreasing sequence such that $\sum_{i=1}^{n} c_i = a$. Let $x_i = c_i$, i = 1, ..., n-1 and $x_n = c_n + b - a$. Since a < c and x < b we have by Theorem 1

$$E_{\mathcal{S}}(\boldsymbol{a}) \leq E_{\mathcal{S}}(\boldsymbol{c}) \qquad E_{\mathcal{S}}(\boldsymbol{x}) \leq E_{\mathcal{S}}(\boldsymbol{b}),$$

$$(2.1)$$

$$C_{\mathcal{S}}(\boldsymbol{a}) \ge C_{\mathcal{S}}(\boldsymbol{c}) \qquad C_{\mathcal{S}}(\boldsymbol{x}) \ge C_{\mathcal{S}}(\boldsymbol{b}).$$
 (2.2)

(i) Let $\mathbf{x}' = (x_1, \ldots, x_{n-1})$ then, with the convention that $E_n(\mathbf{x}') = 0$, we have

$$aE_{S}(\mathbf{x}) - bE_{S}(\mathbf{c}) = (a - b)E_{S}(\mathbf{x}') + a(b - a + c_{n})E_{S-1}(\mathbf{x}') - bc_{n}E_{S-1}(\mathbf{x}')$$

= $(b - a)\{(x_{1} + \dots + x_{n-1})E_{S-1}(\mathbf{x}') - E_{S}(\mathbf{x}')\} \ge 0$ (2.3)

Thus $bE_S(a) \le bE_S(c) \le aE_S(x) \le aE_S(b)$ as required.

Suppose $bE_S(a) = aE_S(b) \neq 0$ then equalities hold in (2.1) and we must have that *a* is a rearrangement of *c* and *b* a rearrangement of *x*. Now

 $E_S(c) \ge E_S(a) > 0$ so $E_{S-1}(x') > 0$ and, from (2.3), $bE_S(c) = aE_S(x)$ can hold only if b = a, i.e. x = c and the equality condition for (i) is established. (ii) Now $b^n c_i \ge a^n x_i$ for i = 1, ..., n-1. Further

$$b^{n}c_{n} - a^{n}x_{n} = b^{n}c_{n} - a^{n}b + a^{n+1} - a^{n}c_{n}$$

= $(b - a)\{(b^{n-1} + b^{n-2}a + \dots + a^{n-1})c_{n} - a^{n}\}$
 $\ge (b - a)\{na^{n-1}c_{n} - a^{n}\} \ge 0$

since $c_n \ge a/n$ because (c_n) is a non-decreasing sequence.

Thus $b^n c_i \ge a^n x_i$ (i = 1, ..., n) so $C_S(b^n c) \ge C_S(a^n x)$ i.e. $b^{nS} C_S(c) \ge a^{nS} C_S(x)$ so from (2.2) $b^{nS} C_S(a) \ge a^{nS} C_S(b)$.

The equality condition for (ii) can now be checked in a similar way to (i).

Remarks on Theorem 2. (1) (i) is a generalisation of a result of Oppenheim (8).

(2) The conclusion of (i) cannot be improved to $b^{1+\delta}E_S(a) \leq a^{1+\delta}E_S(b)$ where $\delta > 0$, for let $a_i = 1 = b_i i = 1, ..., n-1$, $a_n = 1$ and $b_n = 1 + X$, where X is large, then $a^{1+\delta}E_S(b)/b^{1+\delta}E_S(a) = 0((1/X)\delta)$.

(3) The conclusion of (ii) can almost certainly be strengthened to $a'C_S(b) \le b'C_S(a)$ where r < Sn and it would be of some interest to know the best possible value for r.

(4) The referee has pointed out that (i) follows from the fact that E_r/E_{r-1} is concave (5) and a result in (2).

3. An inequality of Oppenheim

Oppenheim (9) has shown that Theorem 2 (i) can be improved in the special case S = n = 3 and $\max_i b_i \leq \max_i a_i$. His result is a special case of the following theorem.

Theorem 3. Let a and b be n-tuples of non-negative real numbers, $a = \sum_{i=1}^{n} a_i$ and $b = \sum_{i=1}^{n} b_i$. If $a \ll b$ and $\max_i b_i \le \max_i a_i$, then

$$b^2 E_n(\boldsymbol{a}) \leq a^2 E_n(\boldsymbol{b}).$$

Equality holds if and only if either both sides are zero or **a** is a rearrangement of **b**.

Proof. We may clearly suppose that a and b are arranged in nondecreasing order. Let $u \in \mathbb{R}^{n+2}$ and $v \in \mathbb{R}^{n+2}$ be non-decreasing rearrangements of $(a, \frac{1}{2}b, \frac{1}{2}b)$ and $(b, \frac{1}{2}a, \frac{1}{2}a)$ respectively. Clearly $\sum_{i=1}^{n+2} u_i = \sum_{i=1}^{n+2} v_i$. Since $a_{n-1} \leq a_n$, $2a_{n-1} \leq a \leq b$ so $a_{n-1} \leq \frac{1}{2}b$ and $u_i = a_i$ (i = 1, ..., n - 1).

For $\lambda = 0, 1, 2$ let $G_r(\lambda) = a_1 + \cdots + a_{n-r} - b_1 - b_2 - \cdots + b_{n-r-\lambda} - \lambda a/2$, then, for $k = 1, \ldots, n-1, \sum_{i=1}^k (u_i - v_i) = G_{n-k}(\lambda)$ for some $\lambda = 0, 1$ or 2. For $r \ge 1$ we clearly have $G_r(\lambda) \le 0$ for $\lambda = 0, 1$ or 2 so $\sum_{i=1}^k u_i \le \sum_{i=1}^k v_i$ for $k = 1, \ldots, n-1$.

V. J. BASTON

(i) Suppose $v_{n+2} = \frac{1}{2}a$ then $v_{n+2} \le \frac{1}{2}b \le u_{n+2}$ and $v_{n+1} + v_{n+2} = a \le b \le u_{n+1} + u_{n+2}$.

(ii) Suppose $v_{n+2} = b_n$ then $v_{n+2} \le a_n \le u_{n+2}$ and $v_{n+1} + v_{n+2} = b_n + \max(b_{n-1}, \frac{1}{2}a) \le a_n + \frac{1}{2}b \le u_{n+1} + u_{n+2}$.

Thus in both cases u < v. Hence, by Theorem 1, $E_{n+2}(u) \le E_{n+2}(v)$ i.e. $b^2 E_n(a) \le a^2 E_n(b)$ as required.

Suppose $E_{n+2}(u) = E_{n+2}(v) \neq 0$ then, by Theorem 1, $u_i = v_i \neq 0$ $i = 1, \ldots, n+2$. Thus $v_{n-1} = u_{n-1} \leq \frac{1}{2}a$ so $b_i = u_i = a_i$ for $i = 1, \ldots, n-1$. But $u_i = v_i$ (i = n, n+1, n+2) now gives $\frac{1}{2}a = \frac{1}{2}b$ and the theorem follows.

Remarks on Theorem 3. (1) The conclusion of Theorem 3 cannot be improved to $b^{2+\delta}E_n(a) \le a^{2+\delta}E_n(b)$ where $\delta > 0$, for let $a_i = b_i = 1$ $i = 1, \ldots, n-2$, $a_{n-1} = X - 1$ and $a_n = X = b_{n-1} = b_n$, where X is large, then

$$\log \frac{b^{2+\delta}E_n(a)}{a^{2+\delta}E_n(b)} = \frac{\delta}{2X} + 0\left(\frac{1}{X^2}\right).$$

(2) Under the conditions of Theorem 3 we do not in general have $b^2 E_s(a) \le a^2 E_s(b)$ when $2 \le S \le n$, for let $a_1 = b_1 = 1$, $a_2 = 3$, $a_3 = 4 = b_2 = b_3$ then $b^2 E_2(a) = 1539$ but $a^2 E_2(b) = 1536$.

4. Inequalities of Ruderman, Minc and Daykin

We remind the reader that $\alpha^{(t)}$ denotes a rearrangement of $a^{(t)}$ in non-decreasing order.

Theorem 4. If $a^{(t)}$ (t = 1, ..., m) are n-tuples of non-negative real numbers, $a_i = \sum_{t=1}^m a_i^{(t)}$, $\alpha_i = \sum_{t=1}^m \alpha_i^{(t)}$ and S an integer satisfying $2 \le S \le n$, then

$$E_{S}(\boldsymbol{\alpha}) \leq E_{S}(\boldsymbol{a})$$

where $\boldsymbol{\alpha} = (\alpha_i)$ and $\boldsymbol{a} = (a_i)$. Equality holds if and only if either both sides are zero or $\boldsymbol{a}^{(1)} + \cdots + \boldsymbol{a}^{(m)}$ is a rearrangement of $\boldsymbol{\alpha}^{(1)} + \cdots + \boldsymbol{\alpha}^{(m)}$.

Proof. Without loss of generality we may suppose that $a_1 \le a_2 \le \cdots \le a_n$. Clearly $\alpha_1^{(t)} + \cdots + \alpha_r^{(t)} \le a_1^{(t)} + \cdots + a_r^{(t)}$ for $1 \le t \le m$ and $1 \le r \le n$. Thus $\sum_{i=1}^r \alpha_i \le \sum_{i=1}^r a_i$ and hence $\alpha < a$. The result now follows by Theorem 1.

Remarks on Theorem 4. (1) When S = n we have an inequality of Ruderman (10). Minc (6) later re-proved the inequality and obtained the conditions for equality.

(2) Daykin's Theorem 2 in (3) is a special case of this theorem with the $a^{(t)}$ (t = 1, ..., m) just rearrangements of a single *n*-tuple *a*, since Hall's Theorem on distinct representatives (see (11)) ensures that his result can be put in this form.

We now require:

Lemma. If a and b are n-tuples such that $a_1 \ge a_2 \ge \cdots \ge a_n > 0$ and $b_1 \ge a_1$, $b_1b_2 \ge a_1a_2$, \ldots , $b_1b_2 \ldots b_n \ge a_1a_2$, $\ldots a_n$ then for p > 0 and $r = 1, \ldots, n, b_1^p + b_2^p + \cdots + b_r^p \ge a_1^p + a_2^p + \cdots + a_r^p$.

Equality holds if and only if $a_i = b_i$ (i = 1, ..., n).

Proof. The lemma clearly follows from the special case p = 1, r = n which is well-known (see (12) pp. 145-146).

Theorem 5. If $a^{(t)}$ (t = 1, ..., m) are n-tuples of non-negative real numbers, $a_i = \prod_{t=1}^m a_i^{(t)}$, $\alpha_i = \prod_{t=1}^m \alpha_i^{(t)}$ and p > 0 then

$$\sum_{i=1}^n a_i^p \leq \sum_{i=1}^n \alpha_i^p.$$

Equality holds if and only if (a_i) is a rearrangement of (α_i) .

Proof. Without loss of generality we may suppose that $a_1 \le a_2 \le \cdots \le a_n$. For $1 \le t \le m$ and $0 \le r < n$ $\alpha_n^{(t)} \alpha_{n-1}^{(t)} \dots \alpha_{n-r}^{(t)} \ge a_n^{(t)} a_{n-1}^{(t)} \dots a_{n-r}^{(t)}$ so $\alpha_n \alpha_{n-1} \dots \alpha_{n-r} \ge a_n a_{n-1} \dots a_{n-r}$. Let a_q be the first non-zero a_i $(i = 1, \dots, n)$ then, by the lemma, $\alpha_n^p + \alpha_{n-1}^p + \cdots + \alpha_q^p \ge a_n^p + \cdots + a_q^p = \sum_{i=1}^n a_i^p$ and the required inequality follows.

Suppose $\sum_{i=1}^{n} a_i^p = \sum_{i=1}^{n} \alpha_i^p$ then, for q as defined above, we must have $\alpha_i = 0$ for i < q and $\alpha_n^p + \cdots + \alpha_q^p = a_n^p + \cdots + a_q^p$ which implies $\alpha_i = a_i$ for $q \le i \le n$ by the lemma and the theorem follows.

Remark on Theorem 5. When p = 1 we have an inequality of Ruderman (10). Minc (6) later re-proved the inequality and obtained the conditions for equality.

From the following theorem we can deduce immediately Theorems 3, 4 and 5 of Minc (6).

Theorem 6. If $a^{(t)} \in \mathbb{R}^n$ (t = 1, ..., m) and (m_i) and (M_i) are rearrangements in non-decreasing order of $(\min_i a^{(t)}_i)$ and $(\max_i a^{(t)}_i)$ respectively then $m_i \leq \min_i \alpha^{(t)}_i$ and $M_i \geq \max_i \alpha^{(t)}_i$ (i = 1, ..., n).

Proof. Suppose there is a k with $1 \le k \le n$ such that $m_k > \min_i \alpha_k^{(i)}$. Let $\alpha_k^{(\tau)} = \min_i \alpha_k^{(i)}$ so that $m_k > \alpha_k^{(\tau)}$. Since $\alpha_i^{(\tau)} \le \alpha_k^{(\tau)}$ for $1 \le i \le k$ at least k of the m_i must be less than or equal to $\alpha_k^{(\tau)}$ so there is a j > k such that $m_j \le \alpha_k^{(\tau)} < m_k$ and we have a contradiction.

The inequality $M_i \ge \max_i \alpha_i^{(t)}$ follows by a similar argument.

REFERENCES

(1) G. BIRKHOFF, Three observations on linear algebra, Univ. Nac. Tucumán Rev. Ser. A, 5 (1946), 147-151.

(2) P. S. BULLEN and M. MARCUS, Symmetric Means and Matrix Inequalities, *Proc. Amer. Math. Soc.*, 12 (1961), 285-290.

(3) D. E. DAYKIN, Inequalities for functions of a cyclic nature, J. London Math. Soc., 3 (1971), 453-462.

(4) G. H. HARDY, J. E. LITTLEWOOD and G. PÓLYA, Inequalities (Cambridge, 1934).

(5) M. MARCUS and L. LOPES, Symmetric functions and Hermitian matrices, Canad. J. Math., 9 (1957), 305-312.

(6) H. MINC, Rearrangements, Trans. Amer. Math. Soc., 159 (1971), 497-504.

(7) D. S. MITRINOVIĆ, Analytic Inequalities (Springer-Verlag, Berlin 1970).

(8) A. OPPENHEIM, On inequalities connecting arithmetic means and geometric means of two sets of three positive numbers, *Math. Gaz.*, 49 (1965), 160–162.

(9) A. OPPENHEIM, On inequalities connecting arithmetic means and geometric means of two sets of three positive numbers II, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz, 210-218 (1968), 21-24.

(10) H. D. RUDERMAN, Two new inequalities, Amer. Math. Monthly, 59 (1952), 29-32.

(11) H. J. RYSER, Combinatorial Mathematics (Carus Mathematical Monographs No. 14. 1963).

(12) G. SZÁCZ, L. GEHÉR, I. KOVÁCS and L. PINTÉR, Contests in Higher Mathematics (Budapest, 1968).

(13) J. N. WHITELEY, Some inequalities concerning symmetric forms, Mathematika 5 (1958), 49-57.

THE UNIVERSITY SOUTHAMPTON SO9 5NH